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(1) s cadl

(2) AN g

(3) THI &I I

(4) wfSreror

CAYE 1, 2578 (B) 33k 4
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SET-A

Child Deveiopment and Pedagogy
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What are plus curricular activities-

(1) Use of Braille !

(2) Orientation and mobility

(3) Daily living skills

(4) Sensory training

(R)=152223 (B) 1,3,4

(€) 11,2534 (D) 1,24

Statement (S)- A person feels anxiety

during examination.

Psychological stresses

are those which arise

in our mind.

(A) S and R both are correct and R is
the correct explanation of S.

(B) S and R both are correct but R is
not the correct explanation of S.

Reason (R) -

(C) S is correct but R is incorrect.

(D) S is incorrect but R is correct.

Interpersonal skills are-

(A) ability to listen'and be empathetic
to others

(B) time management strategy

(C) desire to help others

(D) * knowledge of self

Factors affecting problem solving are-

(1) Functional fixedness

(2) Mental set

(3) Nature of problem

(4) Training :
A) 1,23 (B) 3&4
© 1,234 D) 2,3,4

Inductive Reasoning is used by what
type of thinker-

(A) Creative Thinker

(B) Evaluative Thinker
(C) Deductive Thinker
(D) Analogical Thinker

;-P-Tno -
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APP-11
Which of the following is not a
social motive -

(A)
(B)

Need for achievement

Need for hunger, thirst and sleep
(C) Need for Approval

(D) Need for Affiliation

What are the determinants of
forgetting -

(A) Nature of learnt material

(B) Method of learning

(C) Serial position of items

(D) All of the above

Which of the following teaching
technigues is most suitable for
children?

(A) Play, observation, story telling,
lecture

(B) Group discussion, guided reading,
lecture

(C) Project work, play, observation,
story telling

(D) Seminar, story telling, play,
observation

From the student's viewpoint the
factors affecting teaching and
learning process are-

(1) Mental and Physical Health

(2) Age and Maturation

(3) Level of Motivation

(4) Intelligence and Aptitude

R~ 1; 2,8 (B)* 1, 3,4
€)1, 2,3, 4 (D) 2; 3,4
The factor related to teacher that most

affects the process:of teaching and
learning is-

(1)
(2)
(3)
(A)
©)

Knowledge & Skill
Behaviour

Introvert personality
1&2 By =2, 3
Only 3 (D). 1&3
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APP-1I
The dimensions of emotional
intelligence are-
(1) To understand emotions of self
(2) To control emotions

(3) To recognise the emotions of

others
(A) 1&2 (B)t 1,23
(C) 2&3 (D) Only1
Which of the following is a

Standardized tool ?

(A) Sociometry

(B) Autobiography

(C) Cumulative Record
(D) Kuder Interest Record

Development of language in children
according to B.F. Skinner is the
result of -

(A) Trainingin grammar

(B) Imitation & reinforcement

(C) Innate abilities

(D) Maturation

Archimedes found the solution of his
problem when he was in his bath tub.
This will come under which step of
process of creativity ?

(A) Preparation

(B) Incubation

(C) Illumination

(D) Verification ,
The test designed to measure the
ability to acquire new information used
primarily to predict future performance,
is related with -

(A) Aptitude tests

(B) Achievement tests

(C) Intelligence tests

(D) Personality tests

P.T.O.
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APP-1I
In a constructivist classroom, teacher
is -
(A) A leader of the democratic

learning group

(B)
(©)
(D)

Learner centered approach takes into

Controller of class discipline
Creator of democratic group

Manager of class discipline

account-
(1)
(2)
(3)
(A)
(B)
(©)
(D)

Which theory of personality was

Learner's capabilities
Learning styles

' Context and Culture
1&2

15293
Only 1
2.8:3

developed by Sigmund Freud ?
(A)
(B)
©)
(D)

Psychoanalytic
Behavioristic
Humanistic

Psycho-social

An effective teaching aid is one which
is -
(A)
(B)

colourful and good looking
activates all faculties (mental and
physical)

visible to all students

©

(D)

easy to prepare-and use
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Which of the foHowing are
appropriate Practices for teaching_and
Ieaming?

- (a) Children are €Xpected to pe quiet

and listen to the teacher-

(b) Children should be provided many
Opportunities to develop.

(c) interactions and activitieg should
be designed to develop positive
feelings towards I_earning.

(A) only a (B) aandbp

(©) band c (D) aandc

An approach €mphasizes the child's

active Cognitive construction of

knowledge and understanding-

(A) Paviov's theory is an €xample of
this approach.

(B) Piaget's theory is an €xample of
this approach.

(© Skinner's theory is an €Xample of
this approach.

(D) Binet's Atheor)./ is an €xample of
this approach.

A student may study for 3 test
bec_ause he or she e€njoys the
content of the Course is an 'example
of-

(A) Intrinsic Mmotivation

(B) Extrinsic Motivation

(C) - Achievement motivation

(D) Social Motivation

P.T.0.
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Individualized Education Plan is a
written statement that spells out a
program for students with -

(A) High Intelligence '

(B) Creativity

(C) Special needs

(D) High motivation

Characteristics of ADHD children are-

(i) Inattention

(i) Hyperactivity

(iii) Impulsivity

(A) only (i)

(B) (i) and (ii)

(© (), (i) (iii)

(D) only (iii)

Dancers and Athelets are good in
intelligence.

(A) Mathematical

(B) Spatial

(C) Bodily-Kinesthetic
(D) Interpersonal

Abstract, Idealistic and Logical
thinking appears in which stage of

. development ?

(A) Sensori-motor
(B) Pre-operational

(C) Concrete operational

(D) Formal operational

According to which Learning theory
rewards and punishment shape
individual's development?

(A) Skinner's Learning Theory

(B) Pavlov Learning Theory

(C) Piaget Learning Theory

(D) Bandura's Learriiﬁ’gTheory
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32.

First Language - English

APP-1I

Direction (Q. No. 31-34) : Read the
passage given below and
answer the questions that follow by
selecting the most appropriate
option. ;

Stammering is a habit disorder linked
with lack of self-confidence. Basically,
for a child to understand a language,
there are four stages. The first is
learning to understand the spoken
language and second is speaking. Both
of these usually develop around the age
of two. The third stage is speaking
complex sentences, which develops at
around 3rd and the fourth , is when
the child recognises the written
alphabet. In 80% of children while the
3rd and 4th stages are at play, the first
two get disturbed because something
new is being incorporated in the mind.
This is absolutely normal. But what over
cautious mothers do is fret a lot and
the child develops a fear which later
manifests itself as stammering. In fact,
most text books on stammering state
in bold that, "Had there not been any
over cautious mothers, hardly any one
would have-suffered from stammering."
Fluency can be incorporated in the

_speech of such patients through

hypnosis.
Stammering is caused because of-

(A) Physical disorder

(B) Hindered growth

(C) Lack of self confidence

(D) Lack of understanding

The second stage of a Child's

understanding the language is -

(A) Speaking

(B) Writing

(C)- Listening

(D) Reading
SET-A
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33,

34.

------ are basically the reason for
developing a fear in child's mind -

(A) Parents

(B) Over cautious mothers

(C) Fathers

(D) Teachers

Fluency in such patients can be
incorporated in the speech of such
patients through -

(A) Hypnosis
(B) Slap

(C) Punishment
(D) Symbiosis

Direction (Q. No. 35-38) : Read the
poem given below and answer the
questions that follow by selecting the
most appropriate option.

How happy is he born or taught

That serveth not another's will;

‘Whose armour is his honest thought,

And simple truth his utmost skill;

Whose passions not his master are,
Whose soul is still prepared for death;
Untied unto the world with care,

Of princely love or vulgar breath;

Who hath his life from rumours freed,
Whose conscience is his strong retreat;
Whose state can neither flatterers feed,
Nor ruin make oppressors great;

Who envies none whom chance doth
raise
Nor vice; who never understood
How deepest wounds are given with
praise;
Nor rules of state, but rules of good;

Who God doth late and early pray
More of his grace than gifts to lend;

P.T.O.
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36.

37

38.

39!

Who entertains the harmless day
With a well chosen book or friend;

This man is free from servile bands

Of hope to rise, or fear to fall;

Lord of himself, though not of lands;
And having nothing, he hath all.

In this poem the poet tells the
qualities of -

(A) Ahappy man

(B) Anhonest man

(C) Anordinary man

(D) Areligious man

In this poem the life of the man is free
from - '
(A) Peace

(B) Rumours

(C) Rest

(D) Force

In this poem the man prays to God for-
(A) Hisgrace

(B) Precious gifts
(C) Joyful life

(D) Good friends
Point out the figure of speech in the
line, "And having nothing, he hath all".
(A) Personification

(B) Simile

(C) Metaphor

(D) Oxymoron

Fluency in English can be developed
through -

(A) Creating opportunities to use the
target language for
communication.

The teacher talking for most of
the time.

The teacher being alert to spot
the errors and correct them.
Allowing students who are not
confident to have the freedom to
be quiet.

(8)
©

(D)

SET-A
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40.

41.

42.

43.

Q)

APP-1I

Teaching would be more effective if the

teacher -

(A) Makes his intent purposeful

(B) Is master of his subject

(C) Uses varibus intellectual aids

(D) Declares his objective in the

beginning

In 'Of studies' who said, "Reading makes
a fullman; conference a readyman; and
writing an exactman?"

(A)
(B)
©
(D)

Which methodology sees language as

Joseph Addison
Charles Lamb
Geoffrey Chaucer

Francis Bacon

a complex of grammatical rules which
are to be learnt one at a time in a set
order?

Grammar cum translation method
(B)
©)
(D)

The structural approach
Direct method
Communication
Teaching (CLT)

The main function of a language is-

(A)

Language

Preservation

(B) Evaluation
(C) Interaction
(D) All of the above

The primary skills in any language are -

(A)

Listening and reading

(B) Listening and speaking
(C) Listening and writing
(D) Writing and speaking
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46.

47.

49.

Direction (Q. No. 45-46): Choose the
most suitable option that describes the
meaning of the following idioms and
phrases.

I expect he will come round within a
week.

(A)
(B)
(®)
(D)
I readily closed with his offer .
(A) Disagreed

(B)

Turn up
Come up
Recover
Come at last

Accepted

(C) Rejected

(D) Agreed

Direction (Q. No. 47) : Find out the
part that the
sentence given below.

has error in

Continuous drizzle / in the city /
(A) (B)

Kept the people / indoors today.
(®) (D)

Direction (Q. No. 48-49) : In

following sentences choose the word

opposite in meaning to the underlined

word.

In facing adverse situations, he was

very stoical.

(A) Tactless

(B)

©

(D) :

They made a profligate use of scarce

Flinching
Awkward
Assured

resources.
(A)
(B)
(©)
(D)

Proper
Thrifty .
Extravagant
Effective

SET-A
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52.

53,
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(D) than

APP-11
Direction (Q. No. 50-51) : Reorder the
following words and phrases to make a
meaningful sentence and select the
most appropriate option.
football match / to have seen / I
remember / never / exciting / a more .
(A) I never remember a more
exciting football match to have
seen.

(B) I neverremember to have seen a
more exciting football match.
(C) Iremember never to have seen a
: more exciting football match.
(D) Iremember to have seen a more

exciting football match never.
too careful / of his / a man / .
in the / enemies / choice / can't be.
(A) A man can't be in the choice of
his enemies too careful.
A man can't be careful in the
choice of his enemies too.
A man in the choice- of his
enemies can't be too careful.
A man can't be too careful in the
choice of his enemies.
Direction (Q. No. 52-53) : Select the
most suitable conjunction and fill in the
blanks.
Rustum is slow - - - sure.
(A) and
(B) but
(C) than
(D) or
Take care - - - you should fall.
(A) or
(B) if.

(B)

©

(©)

lest

P.T.O.



55.

56.

Direction (Q. No. 54) : Select the
most suitable alternative and fill in the
blank.

I wish he _ not play his wireless so
loudly.

(A) should

(B) ought

(C) would

(D) did

Direction (Q. No. 55) : Change the
degree of the underlined adjective into
positive degree without changing the
meaning cf the sentence and select the
appropriate option for that .

Mumbai is one of the richest cities in
India.

(A) Mumbai is one of the rich city in
India.

(B) Mumbai is among one of the rich
cities in India.

(C) No other city in India is as rich as
Mumbai.

(D) Very few cities in India are as rich
as Mumbai.

Direction (Q. No. 56-57): In the
following questions choose the
appropriate active voice from the given
options.

The theatre was opened only last
month.

(A)
month.
(B) They opened the theatre only last
--month.
(C) They had opened the theatre only
last month. :
(D) They had been opened the
theatre only last month.
SET-A
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57.

58.

59.

60.

APP-1I
He will be greatly surprised if he is
chosen.

(A) It will greatly surprise him if they
choose him.

(B) Itwill greatly surprise them if they
choose him.

(C) It will be greatly surprise him if
they choose him.

(D) It will greatly be surprise him if

they choose him.
Direction (Q. No. 58) : In the
following question select the most
suitable option for the direct narration.
He proposed that they should wait for
the award.

(A) He said, "We should wait for the
award".

(B) He said, "You should wait for the
award".

(C) He said, "Let them wait for the
award".

(D) He said , "Let us wait for the
award".

Direction (Q.No. 59) : In the
following sentence omit 'too'
without changing its meaning and
select the appropriate option for that.
The house is too large, not to be able
to accomodate everybody.

(A) The house is so large that it will
not be able to accomodate
everybody. :
The house is not so large that i
will be able to accomodate
everybody. :

The house is so large that it will
be able to accomodate everybody.
The house is so larger that it will
be able to accomodate everybody.
Direction (Q. No. 60) : Select the
word nearest in meaning to
underlined part.

The resignation of Chief Minister is
(A) secret
(C) curious

(B)

©
(D)

(B) “interesting
(D) diplomatic



61.

62.

e g - &=t

APP-11

ARSI & IRIar &

(A) e e

(B) Haw s

(C) wam=REoT 31

(D) WergEaT

I, ' 9T ‘Y’ Ul Bl ITWRU-RIFH &
IR PHMNER $eT oI & -

(A) =, < qun e 9o

(B) T, g T AT qof

(C) e, & an JP=a 9o

(D) ¥, dIEH AT & JUT

e : FAfaRaa e @1 ggax gB e
YT (9 9. 63 | 66) P TaieD had TR
I faeeT 31 Taa Difw|

a3 e e g AF foar e,
31fe 3% - & 3iR vl 39 el satee
e gurs & g a1 JeEifa anfe w®
@ 3R e S &= T 8, wife 9@
3R T B GRiear o 39 Ba | & gl
R 37 N1 & T IRER 3T TN &
5 3M9 52 3E-3E R W & Tl
T R 3R I & 9 v =AY
el @& 9o g9RI 3ial & 9 &l
e &, el 8 89 3 3 7 Ul a1 399! 3R
3 i e 7l 3T & # EARI Guasi
g 78 & oo Svpla o fJom & wifd &
& forw v Y U A5 SR A TRl
3 @ T TG I AR RIS gEI
FoI-S31 AR ¥ @ €, 30 SAmRT! Tar
&9 319 9Rfra ot 3 59 &7 3 o oW
X feza, 3R g & O & s | &
TS B FA S A O 9 o &l Beil b
TR IR AT AR E 89 9 39 al
AN PA? ;

SET-A
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63. @IS, IeFIR, SRR, fem ok deph

HHI: TS & - '

(A) 33, IR, $d, T IR a1 &

(B) d, 38T, T, MR 3R T &

(C) &, IR, 75, T 3R B &

(D) 3&, HE, 3R, BT 3R T &

e fosr 3iR deHe a0 & SEsE

EART faer 3R €, 31§ O -

(A) Wipiics 3@ 7 &

(B) ISHIkis 3afd T &

(C) difte foem 7 &

(D) 3 =i T &

AT B Tl Y OES B ARG & -

(A) IR Fam o1 Fmio

(B) died 3 gie

() 3iofie o

(D) Si@ii® I

TPl 3R ¥ Faiitis ITRarT &

(A) ISHIfdsT ‘(B) FPR

(C) d=iFs - (D) 3wfemE

67. FrfoaRea aca & wfagmor & -

- 31U 3 HEd W &9 doT g

(A) & (B) #Hgd

(C) 31 (D) 3T

gerel, shet vd ARl & R fexamn Rreor

& foou g7 o a9 &7

(A) R ¥ 9w 3 3R

(B) V@ F&H Bl 3R

(C) uof & 3iwr &t 3R

(D) T ¥ @ &I

YT GRT X BEF! ‘Sae’ o [avdasg

PI it UG 3 & -

(A) 3 99 & Y H gl

(B) RIS & IHUE P TAFT

(C) qIoT-FifasT= @ RIARD

(D) U B fHaT &1 Hea s
P.T.O.
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66.

68.

69.



70.

7L

72.

73.

74.

75.

76.

77

AT - :

(A) &f0 IW FAR

(B) A HHAIH

(C) =R yaE fgaar

(D) HT= ol

w8 foem @ 9g= Ba ge Ffeiad

(©) g
G| B o T e i s R s A

e o & -

(A) fodrst (B) Weg=Hic
© TEw s (D) fewtaiae
TG’ BT GAIar 8-

(A) eI (B) BED

(C) Rasat (D) Earm

& v ¥ = ¥ P I 9§
TgcT 3R -

(A) Wl (B) W

(C) weftigaar (D) WEroial
IS’ HT FIAR & -

(A) HeeHa = (B) gSaT-uaal
©) = (D) @A
frfiad § ¥ B Be & & -

(A) Wfom (B) durg

() =Rafaer (D) 9T

1926 & wpi¥rE, fedt @1 ugen sifafers
U= 9T S E -

(A) R ghw

(B) Rl uRawT

(C) Far 3iEa

(D) TEHSR

SET-A
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APP-11
Sem o 9El $ 3R R @I 51 3AR-
(A) s
(B) =™
(€) 3

(D) 3
Porg # 3o faefiwor 3o 81 e & Xiiood

(A) aRpa® el

(B) VR WSl

(C) waara® sl

(D) Sifdarde w3l

e : PR m@ie @ deex 98
ye=T (59 . 80-83) & IS IUGTH I
e fJeea &1 9o DIl

3T § TP Hedd 99T & B9 A fawaw
BT 3T G B ST H R aTelt Fo=
& - SR 9| 59 U AT B STPIE D

ol &Y aRE T B Gl SRR &l J

el g &1 vH SR foe @1 5
T g8 ST & SN fabtea goal §
hAaR 72 SNRGAl & ¥9 § FKIEU b
FHRIHS WO F -3 B sl B
TH| FRRIET Gt df¥ad TR R IHRA
qrer Tt & ufd T T8 § o o
feg yaid 8 awen &1 SRE-FaRIl §
I Teped 59 B 3 A1 0 & ob orar]
GERT & WY HEHR AT Ueell F1S o d Y9
BT I 37 IR ¢l

3 & SR 8N arel gEal @ Tal |
T8 B 3rBeer B G H S TE AHA
& guRorE! ¥ foea oRfaa &1 &3 4 Seer
&T B S-gae I & ared {$ar 511 Fed!
2 foo o8 g3 HrRidEl BR| 3AUT
THAIGR] MGl & WG H d ad
PR & 3 fidl o xam & fowe SR
P A R @B THET TG & &l



80.

81.

82.

83.

84.

S ghs foa veR @ g &2

(A) dTcPliaies T

(B) &y wuwT

(C) < fovw o Fwwn

(D) Rew T

IR TRl & wwaE » for srevas

(A) R &amE

(B) <RI TR W IUSID AR

(C) IR Jobi B AH

(D) HHRIHS T YA ST

IR ARRATC A¥as T3l & FRarRor

H T 3% &7

(A) TETEFT & HH B DRI

(B) wHIGI <30 & I€F & BROT

(C) BRI &™ar & 319F & BRI

(D) affe-Fdes & uoe & Wi &
HROT

TES B gt § IHwEnil & aRa gaTeE

P 95eT B T & -

(A) IORIES FH-gday

(B) =R Twmi o ori-yome #
Seed

(C) T=mit & afim &1 war Fefkor

(D) =RIEIT TRt & Sries &
IEEIE T

f&<r wifeca I9e YOt & oM U

B I?

(A) UNHEN TUsH

(B) ¥ed HIEd Aoa™d

(C) . v Hh

(D) 3= 1T 39F

SET-A
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87.
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89.
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APP-1II
. '3gHa & R H die’ fEaw! o
& ;
(A) wTeiEr s&RIE
(B) ciiemer Sgh
(C) P emen
(D) SERATI 3TAI
= U @ 3w < & e
UG RER e
(A) craaH
(B) zmw=m
(C) Freww
(D) uRads
TN B BET H BH-A eor-gie wew
oY JUEY 87
(A) 3fa 7if vd YaTe & AR e R §
&
(B) & 3WRU R IS g6 1
(C) w<di &I 3 3gER uRRm@ fawg o
IR R T :
(D) TR o TfciRgd T, 9 IR
TGaHT
AT Rrefor F Uy g -
(A) wrem &
(B) dmEE &
(C) 3 Eeas &
(D) vHHE daeH &
I S FEEE B & -
(A) e, o
(B) ue, forem
(C) I, gem
(D) g, der
HIST-375H H Fecayof @ -
(A) UBa-gxD
(B) umST &1 PRrers
(C) 9w & faftm =i &1 v
(D) 9T &7 HTHROT

P.T.O.



Second Language - English

APP-1I

Direction (Q.No. 61-64) : Read the
passage given below and answer the
guestions that follow -

What will the historians of the
future say? They will record that
India produced a great leader, Gandhiji,
and he taught people to work together.
He taught them to break down the walls
which separated the people from one
another. He taught them to uplift the
Harijans because it was his desire that
everyone, irrespettive of his caste,
creed or religion, should enjoy equal
rights and be free. The people of India
rose as one man from the Himaiayas to
Kanyakumari, threw off some of the
burdens from their backs and
under the leadership bf the great
Gandhiji moved forward and won
independence. After centuries, India's
star rose in the horizon. Its voice was
heard in the councils of the world,
because it was the real voice of India,
And then these very people of India
who had
determination, fell into a dream and

into carelessness and quarrelled among

themselves. Sometimes they fought in
the name of religion, sometimes in the
name of caste or language or
state.....We should not lose ourselves
in wrong directions. We cannot allow
our country to fall. Let not this
priceless treasure of our freedom slip
through our hands because of our

weakness.

SET-A

shown courage and
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61.

62.

63.

What message has been conveyed by

the author in the passage?

(A) The people of India rose as one

man from the Himalayas to

Kanyakumari. |

That fighting in the name of

religion, caste, language or state

will make us lose our freedom.

The people of India who had shown

courage and determination fell into a

dream.

Gandhiji taught people to work

together and uplift 'Harijans'.

Two salient points from Gandhiji's

teaching to the people are -

(A) Everyone should enjoy equal rights
and people should break down the
walls which separate them, from
one another.

(8)

©)

(D)

(B) People should have courage and
determination and fall into dream
and carelessness.

(C) Should raise the voice and not
uplift the Harijan.

(D) Should breakdown the walls to

separate the people from one
another.
What impact did Gandhiji's leadership
have on the people and how did India
gain thereby?
(A) That we should not lose
ourselves in the right directions.

(B) Thatall Indians should move from
Himalaya to Kanyakumari

(C) Under Gandhiji's leadership people
did not move anywhere to win
independence

(D) Gandbhiji's leadership united the

people to rise as one man, moved
forward and won freedom.



What sorry state of affairs is
prevailing in the country today?
(A) that freedom is a priceless

treasure of a nation.

(B) that people are united from one
and of the country to the another.
(C) that the people of India quarrel
among themselves in the name of
religion, caste, language or state.
(D) thatthe people should enjoy equal

rights.

Direction (Q. No. 65-68) : Read the
passage given below and answer the
questions that follow by selecting the
most appropriate option.

Self directed learning, in its broadest
meaning, describes a process in which
individuals take the initiatives with or
without the help of others, in diagnosing
their learning needs, formulation of
learning goals, identifying resources for
learning, choosing and implementing
leamning strategies and evaluating learmning
outcomes. Thus, it is important to
attain new knowledge easily and
skillfully for the rest of his or her life.
What is the need for self-directed
learning? One reason is that there is
convincing evidence that people, who
take the initiative in leaming, learm more
things and learn better than people
waiting to be taught. The second
reason is that self-directed learning is
more in tune with our natural processes
of psychological development; an
essential aspect of maturing is
developing the ability to take

SET-A
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65.

66.

67.

68.

APP-1II
increasing responsibility of our own lives
to become increasingly self-directed.
The third reason is that many of the
new developments in education put a
heavy responsibility on the learners to
take a good deal of initiative in their
own learning. To meet the challenges
in today's instructive environment, self-
directed learning is most essential.

In self-directed learning, an
individual-
(A) Takes initiative with or without the

help of others.
(B) Is passive and waits for directions.
©

(D)

Is helpless and dependent.
Takes initiative, without an
objective.

There is need for self-directed learning
because-

(A)
(B)

It is less challenging.

It helps people to learn more
things and learn better.

(C) It is more cost effective method.
(D)

The modern environment according to

It is a modern method of learning.

the author is -

(A) Restrictive
(B) Instructive
(C) Less developed
(D) Impracticable
The synonym of the word
'Diagnosing' is —
(A) Searching
(B) Examining
(C) Identifying
(D) Complying
P.T.O.



69.

70.

74

72.

TG

Which one of the following choices is
consited of a perfect language slot?
(A) ‘Talking, listening, reading and
expressing.

Writing, dictating, reading and
listening.

Reading, listening, studying,
speaking.

Listening, reading, speaking and
writing.

(B)

©

(D)

In the context of Pupils learning
difficulties which one of the following is
not a learning difficulty?

(A)
(B)
©

Poor memory.

Short of comprehension power.
Inability to transfer knowledge to
the related learning areas.

(D) Lack of good books.

The basic purpose of mid term
assessment is -

(A) To decide pass and fail.

(B) -To measure learning achievement.
©
(D)

To give assignments in writing.
To measure learning achievement
and arrange supplementary
teaching to fill learning gaps.
Taxonomy of educational objectives is
not related to which one of the
following -

(A) Psychomotor domain.

(B) Socio-economic domain.

(C) Cognitive domain.

(D) Affective domain.

The 'structural approach' in
teaching English corelates between-
(A) Grammar and skills

(B) Skills and drills

(C) Grammar and poetry

(D)

Grammar and composition

SET-A
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78.

79.

80.

APP-11
Teaching skills are developed by using-
(A)
(B)
©
(D) Action-research.
Direction (Q. No. 75 to 77) : Choose
the correct pronoun (reflexive) to

Simulations
Micro-teaching
Interaction analysis

complete the sentence.
The bubble burst ..... :

(A) itself

(B) himself

(C) themself

(D) herself

The guests made ...... merry.
(A) himself

(B) - itself

(C) themselves

(D) yourselves

The Japanese feed...... Ehiefly on rice.
(A)
(B)
(&)
(D)
Direction (Q. No. 78 to 80): Choose

the correct auxiliary or modal verb out

himselves
yourself
myself
themselves

of the given alternatives .

When we see you again?

(A) shall (B) - may

(C) does (D) should

You improve your spelling and
pronunciation.

(A) might (B) had

(C) must (D) would

I live there when I was a boy.
(A) could (B)> must

(C) shall (D) ‘'used to



Direction (Q. No. 81 to 83) : Select

the correct antonym (opposite of

meaning) of the followiﬁg =

81. India got freedom on August 15, 1947-
(A) liberty (B) slavary
(C) misery (D) merry

82. We must accept good wishes of our
elders. .
(A) depart (B) protect
(C) refuse (D) defuse

83. Hindi teacher gave us important
assignments today.
(A) exclusive (B) inferior
(C) trivial (D) stupid
Direction : In question 84 select the
most appropriate word to fill in the
blanks in the given sentence.

84. The story that the traveller _ was
very interesting.
(A) explained (B) repeated
(C©) narrated (D) revealed
Direction : In questions (85-86)
select the word with correct
spellings for filling in the blanks in the
following sentences :

85. Please give me a TS of white
paper.
(A) peice (B) peace
(C) piese (D) piece

86. My friend and I have __ hobbies,
(A) diffrent (B) different
(C) deferent (D) defferent

SET-A
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87.

88.

89.

90.

APP-]II
Direction : Question No. (87-90)
Select the correct answer to the
following questions :
Choose the word of incorrect
spelling-
(A)
(B)
©)
(D)
Identify the adverb in the given

Grammar
Pedagogy
Mathematics

Compocison

sentence :

The wicked (naughty) boy slapped the
girl loudly.

(A) wicked

(B) slapped

(C) boy

(D)

Select correct one’ word to substitute

loudly

the underlined part of the following
sentence :

The devil is not be seen with human

eyes.
(A) invisible
(B) unvisible
(C) invincible
(D) indivisible

Choose the correct word order -
(A) Ilent my pencil him.

(B)
(C) Pencil my I lent him.

Ilent him my pencil.

(D) My pencil I lent him.
P.T.O.
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forder : (w1 W= 61-64) : F=afeiRaa memenRami

61.

63.

SET-A

yeIHT SR JRior f’Krgd-

fovawa ol HNR] SRGaHTT TR
IR WG SR WO S Fal
IR WIS sAfasTEar: A
PSRl gUia - IRa 9T

e IR SRET: 9T dsiepai

foard va agure-faRivsT: seuaf< ad
GRpeiid TG Pol FaraHT HIST e |
T aIsEd ad:, gRot:, Hifaemst:,
Rafecaerenfefiea wyaaial sries
TeuIT fagamionl sadedd 3uHH|
ToTeeRRIaY Rfeme smfa gRiemial
TfvTaeTeR R ufaures |dueH
HTERRTaTY : fagafeRiaet 3/eRid |
fafscarema @ e gHTAT: AT
foreavig |

YR S T TOHISRA?

(A) epicr

(B) WFUIHH

(C) FHfer:

(D) ®IsfuA

(A) Tfecarr
(B) IR
(©) FagrarRmoit
(D) 3RfETA
qEHI’ 5T P: WeId:?
(A) aqq
(C) =4

(B) #ag
(D) T 9IT:

- [24]

64.

(A) T, SgITH
(B) T, THATTH

(C) U, SgaT-q
(D) TR, THETH

rder : (e Hw=n 65-68) FrafoiRad-vamenRami

65.

66.

67

69.

70.

ST TR JaRiT R -
arrifea gt arRufaeR
s ARt a2 okt
T GIua 99 g9 redavaric:|

ferfrfgRer. HieTggtee | ||
7 BT Ry 3 w2

(A) wmEE (B) afe:
(€) PfERE (D) wWawuREr
IRl 307 &: gaE:? '

(A) dgou: (B)  FHYURY:
©) w= (D) f&:
(A) TR (B) I
(C) Izaan (D) TE=AfCIeTdT
(A) dafertt  (8) faferar
(C) siferféer (D) 3T
3R - U gidT: ITRURIFARG -
(A) WUorSH (B) &=ireq
(C) ®Usdg (D) it
TwEr o1 fRe: wake

(A) TRl (| fadian
(C) e (D) W



71,

72.

13

74.

75.

76.

‘o w3 et sfa g o= o
garaaHfed: ?

(A) 3 g

(B) el

(C) rEHaH HRUH

(D) @IS I

T SR W AReREEgER-
(A) @RI -

(B) I T T

(C) el &3 A

O) T

Tagifcerafn som &: wFofowe: g&:?
(A) fog + fomafa

(B) fagw: + ferafar

(C) fugq + forafa

(D) o + forafar

9 v e

(A) 3R

(B) 3rui

(C) sriemrH

(D) AT

‘TR’ YR YT &P

(A) 3Tee:

(B) WRfUT:

(C) oeme:

(D) &=

TR 3T Sre S fav & yan:
TP

(A) THH A °

(B) THAY - IFHAY °

(C) TH-H T WA

(D) THAH T INHIH T

SET-A
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T (BR) g faiifas der sTHgoy-
THaa TUISRA-
(A) TR:
(B) FRIH
(C) ¥RH
(D) W|RY:
Yool femond: ;-
(A) HETHTH
(B) dMGguIan
(C) SISRRIEH
(D) FrewH
"Higeal W9l fUgear Wal I <ar E”
eI pa: 3gg@:?
(A)  SemEROUYe:
(B) WomMYe:
(C) dRRIEYE:
(D) wEAHYe:
‘qadr’ 3 U & TId:?
(A) Y
(B) s
© fa
(D) s
FepaamE: fefRia -
(A) Ry
(B) srahfey:
(C) cEARRIfeIy:
(D) TRy

P.T.O.



lpiRk| kkkate-Plapik (Q)
lelb] blixhidxh (D)
ibiiRbl lkaako  (g)
1bibl BRK (V)
CRIR® X} RIE i
hilshi ()
Ellepibhp (D)
:alwbap| (g)
lojikn] B ()
¢hobabldhdl RIRIRE RIAlD-ERID
E nsie (a)
‘hlep
plbkrip-khiglie lnhadah fea (D)
Blmb] [kwialoeboy feig ()
‘RIp] clpIbypkile keig (V)
| kpk @wbhe (Q)
I:l|iad Ikl B Jallakbaie
ItjaleiitR I Tlislirplsfladdolize (D)
| BEEEElE AT R RIADRRI
RRPR| |kibbl] Ikl (g)
e
1bokablie hiblbleae bbby DIE

PR IRpIE-1RX 3 -gokdlinddolko (V)
¢ :nbl Obhe Phi-lalglal loxdlko
II-ddV

‘06

68

88

L8

V-13S

k hisie (a)

bt Sk bikak bikig (D)
LipMK Blel@balia Do (g)
Libblh b bbehl-obikpy felg ()
bhibakoohdlk  (Q)

:pesoh Bppib 1afifiey (D)
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(A) uasm%aﬁﬁumﬂqufqﬁaﬁ
Prooavel # fawnfor fovar smr 21

(B) U UR T H, v Hisuavs o1 i
DI0T 180° I iferd & & waper 2

(C) ©d ur ard #, &1 ErT BIUT 180°
& Jad &

(D) w9k IE H, A a s B
BT wie & W

W n 3R n+1 & T & & F e
(A) n (B) 2(n+1)

(©) 2n+1 (D) 2n

TS TR diel IRad TR0 F S & -
(A) To= o Ui & AT $ae 0F W
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94.

Which of the following statement is
false -

(A) In a pie chart a whole circle is
divided into radial sectors

(B) The central angle of a radial
sector in a pie chart cannot be
more than 180°

(C) In a pie chart two central angles
can be of 180°

(D)

In a pie chart two or more

central angles can be equal

The natural numbers between the
squares of numbers n and n+1 are-
(A) n
(C©) 2n+1

(B) 2(n+1)
(D) 2n

Linear equation in one variable has-
(A)
(B)

only one variable with any power.

only one term with a variable.

©
(D)

The number of teeth and the age of a

only one variable with power 1.

only constant term.

person vary -
(A) directly with each other.
(B)
©

inversely with each other.
neither directly nor inversely with
each other. -

(D)

sometimes directly and sometimes

inversely with each other.

P.T.O.
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gAl § PieT o 81 IR ' 3R &
T 1 & YOI eEwel § a1 U 82
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(8)
©

(%)

(B) 1:3

(C) 14 (D)6
afe sifsa 7eg x 9 a¥g W T a% &,
drEEre -

a
— x 100
(A) %

: :
—x'100
= ()

100
X xa

(€)X (D)

100
Us URAT TRAT P ST ReU0T &Y &
TEaT -

(A) g
(B) 3y
(C) e madr
(D) 3R 3FTEdAr
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95.

96.

7.

98.

(A) 1:2

APP-1I
Which of the following is not true -
(A) A unique quadrilateral can be
drawn if all four sides and one
diagonal is known.
(B) A unique quadrilaterél can be
drawn when all the four angles
~and one side is given.
(C) A unique quadrilateral can be
drawn if all four sides and one
angle is known
(D) A unique quadrilateral can be
drawn if three sides and two

diagonals are given.

A cube of side 4 cm is cut into 1 cm

side cubes. What is the ratio of the
surface areas of the original cube and

cut-out cubes?
B) i1 '3
()R =4 (D) 1:6
If a% is the discount on a marked price

X, then discount is :

X a
— x 100 — x 100
e B =
100
© Xx—loo (e o
Decimal representation of a

rational number cannot be -
(A)
(B)
©
(D)

terminating
non-terminating
non-terminating repeating

non-terminating non-repeating
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100.

101.

102.

103.

I TR P LIS ¢

(A) 0

B) 1 |

(@) aﬁs‘aﬂaﬁffsm

(D) uRwia =&

3 g (aferg & 3faRe®) o Yet 3!
oife & /e &, FrefeRad § Rera & -

(A) ae TgART I

(B) agufer 13iR I

(C) Tgarfer I 3R 11

(D) aqyfer 11 3R 1v

(a, -a) ¥4 & fog Tda Y@ R R dar
&

(A) x=a (B) y=-a

(6 y=x (D) x+y=0

(A) TUTT & T TIREmet ¥ Iy e
g

faftre wu & safafd & deg wdeamdr
T &

€ wWad

(D) uRumid &

Tfe & FHER @i o1 e &% arel
U6 i @1 & U8 & 3R & QAT SiA:I0T
2:3 % U H &, d aF1 o § §8
DT & -

(B)

(A) 54° (B) 108°

(C) 120° (D) 136°
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99

100.

101.

102.

103.

APP-1I
Zero of the zero polynomial is -
(A) O
(B)aid
(C) Any real number
(D) Not defined
The points (other than origin) for which
abscissa is equal to the ordinate will be
in:
(A)
(B)
©
(D)
The point of the form (a,

I quadrant only

Iand II quadrants

I and III quadrants

II and IV quad-rants

-a)
always lies on the line -
(A) x=a (B)
(© y=x (D) x+y=0
Axioms are assumed -

(A)

¥ =i=a

universal truths in all branches of
mathematics

(B) universal truths specific to
geometry

(C) theorems
(D)

If two interior angles on the same side

definitions

of a transversal intersecting two

parallel lines are in the ratio
2 : 3, then the greater of the two angles
is -

(A) 54°

(C) 1200

(B) 108°
(D) 136°

P.T.O.



104. T3 3R WeR & FEgar ¥ o

105.

DIT & TTT GH & -
(A) 35° (B) 40°
(©) 375 (D) 47.5°

T n-1, sqfoysmaar g, gk n &
o

(A) gt

(B) wipa AT

(C) Toww T

(D) <9 d=T -
AB BC

106.1 st ABC 3k DEF &, o= = &5 &,

©

@ gHSY BN, I -
(A)
(B)

LBy E
ZA = 2D
4£B=£/D

) 2 A= 2F

107.a%uasgﬁa§Nﬁf€13ﬂ'\ru$aﬁasrtﬁmq

TR &, a1 -

(A) T BT &FBA = T DI &ABA
(B) T FT &FBA > T BT &ABA
© qﬂam<aﬁﬂm

(D) T 3R ot & el & S & T
# FRad $7 4 o8 78l Bar 311 [ad|
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104.

105.

106.

107.

(B)

APP-1I
With the help of a ruler and a

compass, it is possible to construct an

angle of :
(A) 352 (B) 40°
(). 37:5° (D) 47.5°

n2-1 is divisible by 8, if n is -

(A) aninteger

(B) anatural number

(C) an odd integer

(D) an even integer

If in triangles ABC and DEF, E = E ;
DE. FD

then they will be similar, when -

(A). £B =~E
B A= 2D
). «£B=s«D
(D) : Z A ="~F

If the circumference of a circle and the
perimeter of a square are equal, then -

(A)

Area of the circle = Area of the
square

Area of the circle > Area of the
square

Area of the circle < Area of the

(©)

square
(D) Nothing definite can be said about
the relation between the areas of

the circle and square
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108 afﬁ@ gl &1 T ARERTE B Iy 108. While computing mean of grouped data,
g ' ; we assume that the frequencies are -
&9 I8 Hedl IR & [ SRERAI- (A) evenly distributed over all the
: : y classes
(A) 0 @l A T T foaRd & (B) centred at the classmarks of the
(B) it ¥ of gl W B & Classes
(C) centred at the upper limits of the
(C) ot &r 3uR THRT | diea & classes :
i : ! X (D) centred at the lower limits of the
109. =g & ggq.;ﬂa‘;‘y 2 5 uvdwes B 109. A prism is a polyhedron whose
x. _ lateral faces are-
(A) T (A) Cricles
(B) (B) Triangles
R T W (C) Parallelograms
(D) W\f (D) Rhombuses or Rhombi
110. afe a1 J=3l &7 INHE 'a’ 9T 95T 110. The sum of two numbers is 'a’' and their
TUE%E 'b' & a 3b ¥l BT ANTHA product is 'b' then the sum of their
g‘m 3 ' reciprocals is -
a gy 2 Sl
(A) = (B) =l = (A). b (B) = b
1 b 1 b
CYiep ® 3 © Zp ® 3
111. U6 999 QUlie ¥ 3iR 396 i &1 an, 111. The sum of a positive integer
; A number and its square equals the product
<t ® el ® of the first three prime numbers.
TR &, I€ T & - That number is -
(A) 6 ® 5 (A) 6 (B) 5
© 3 D) 2 (€) 3 (D). 2
. Lo L g ) GUELL TR
112.z:ﬁ\aX_Y=_2._534‘\1Y,Z=§_§ 112253 > 3and )
ﬁr(x;v)-(v+2)asrm%- then (X +Y) : (Y + Z) is equal to-
(A) 15:16 ®) 9:10 (A) 15:16 (B):2:9 107
© 6:15 ©) 5:8 {€)-.6: 15 (D)is5:8

SET-A [37] P.T.O.
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fa@ AABC H favg D T E, 43T AB cRIT AC
& #eg fog €, erifea WM R BRgst @1
fosemr wfcrera 22

(A)
(B)
(é)

(D) 25%
oo ®em § B IUT BERN & 3D B

sitga A 21 e § ©El 9 BER &I
U 3 1 &1 3fc Bl & 3l 1 i
A+1 2, @ BERl & 3P B 3iEa 8n-

A
75%

60%

50%
B C

(A) A+1 (B) A-1

(C) A+3 (D)--A =3

HIg, em-8 | T & ANS &, B
O B B AT T Sgd AR) e
AR | 3T 39 Tfafafer @ axm
BT 32ZT TI1 & Al

(1) THT B &0 B B D@l DI
Treated BT

Bl B TG MBS THT P
AR F&H BT

BEIT D& DI THEAT DI dled P (oL
JTET ARIaT

edice & fore famedi o 39an &+
& foe
13R 2
13K 3

(2)
(3)
(4)

(A) ® 1,23R3

(D) 1,23R 4
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113.

114,

LSS

APP-11
If D and E are the mid-points of the
side AB and AC respectively of the AABC
in the figure given here, the shaded
region of the triangle is what per cent

of the whole triangular region?

A
75%

(A)
(B)
©

(D)

The average score of a class of boys

60%
50% D E

25% B s

and girls in an examination is A. The
ratio of boys and girls in the class is
3:1. If the average score of boys is
A+1, the average score of the girls will

be -

(A) A+1 B)iA=1
C) A+3 (D) A-3
Mohan, a class-VIII mathematics
teacher, assigns a lot of survey based
projects to mathematics class room.
The purpose of such activity is -

(1) To prorhote'Problem solving skills.

(2) To give an opportunity to collect
authentic data.

(3) To break the monotony of the

classroom.

(4)

To use it an alternative assesment

(A) 1and2 (B) 1,2and3

(C) 1and3 (D) 1,2and4
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i1 7 &

(A) =9

(B) FiIDROT

(C) IR

(D) THTIHROT

NCF-2005 & 3R 'THef Tor’ 33 Rerfer

# S ot & T -

(A) T A gl 3R Rier ve 9fha aae
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I ORI AT BT a1E 7 U 34
TE9 7 32 5 wWien # arwr o7 2
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TOTT St & 2 e @1 v e
al

@ DI FTURIMA P 2 & o
e s & foe wory T s 2l
vP T @ Ries aggl ¥ orf #R @
sedt @1 e a% <& &1 e
JaeI YD S B I G, B,
Tfifafer & gfenfiia | wlow &, 39 fafafr

Y 98 BT T & & -

(A) T &1 IRIRW Feaio-l

©

(D)

(B) s & TS Heaidp|

(C) dcdi DI THEI H BRI B BT UT&I0T|
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116.

117.

118.

APP-11

Which of the following is not an

important aspect of Algebra -
(A)
(B)
<
(D)
According to NCF-2005, School

mathematics takes place in a situation

Measurement
Visualisation
Transposition

Generalisation

where -
(A) Children are listners and the
teacher is an active Narrator.

Children

chorus drill of formulae and

(B) are involved in
pressure of performance in
examination.

(C) Mathematics is part of children's

life experience.

(D) Children are forced to learn all

concepts by daily practices.

A Mathematics teacher is observing

students working in groups. Her

observation is focussed on collaboration
and interest of each student, and
participation of Individual student in the

activity. Through this activity she is

trying to -

(A) do summative assesment of the
students.

(B) do formative assesment of
student.

(C) give training to the students to
work in groups.

(D) give training to students in life

skills.
P.T.O.
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R X W BET St 0§ R
@1 U5 &I RV I & 6 AR e
e

(A) Argarsi & AORIISRoT & et
YEHHUT W § & ORI R g
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SUeR T gerTd AT & 3R Ted
& ofa &E & w3 RIS AR
- gl B

et gt # st a3k
TR YBR & T BH B & o
oo enfie & 8l

ARG Gedid- B &l D

(B)

©

HET R g &l &l
T & aRaEERT § IR A F=faRea
R Y S w aR -

(A) I T G PIIE B 9o &l

(B) 9 srafdudt sre=El @ g &Rd &

(C) q T ¥ 37 T BT M Bl
gl
(D) d 3FAYUT BT B Meled D &l
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119.

120.

©

(D)

APP-11
One of the major reason for student's

failure in mathematics at school level is

that our assesment process-

(A)

emphasizes on testing of

procedural knowledge than

mathematisation of abilities.

(B)

is gender biased and asks problems

relevant to boys interests.

©

is more subjective in nature and
less or no objective type of

questions are Included.

(D) gives more weightage to

formative assesment than
summative assesment.

Which one of the following

statements is not true about projects
in Mathematics-

(A)

They enhance Problem solving

skills.

(B) They establish interdisciplinary

linkages.

They makes scoring easy in

Mathematics.

They promote enquiry skills.
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(A) T
(B) TR T ¥a
(C) udur §a
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FWEE -
(A) 3REN @1 fowed
(B) HeWR B gl
(C) BTl BT THSI
(D) 5 &1 aFr
123.F=fafaa 4 3§ o ot =& &2
(A) @I BRER HOH (RBC)
(B) ifaro]
(©) &g
(D) feraroy
124, Fefafed 3§ @ a3 dua w8 &

(i) €& 9 gRT 399 Bar 2l

(i) eafa-HoroT a5 fee A@egH &t
NETAHal Bl 2l

(iii) € TAT YHTRT ST DI FTRT & fore
b1 i | oz oors B o | |

(iv) & & a1 Yo & Ui o ®H
grar &1

(A) Sae (i) T (ii)

(B) &ad (i), (ii) T (iii)

(C) & (ii), (iii) T (iv)

(D) obdet (i), (ii) 2T (iv)

125. FrafoRed & ¥ oF-9 foews 3 foga =

gIe el grme

(A) dg@E™E  (B) TR

(C) Tl & UMt (D) o=ufd ad
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121.

122,

123;

124,

125.

APP-1I

During dry weather, while combing hair,
sometimes we experience hair flying
apart. The force responsible for this is-
(A) force of gravity

(B) electrostatic force

(C) force of friction

(D) magnetic force

The substance that will be flattened
on beating with a hammer is -

(A) crystal of iodine

(B) lump of sulphur

(C) piece of coal

(D) zincgranule ,

Which of the following is not a cell?
(A) Red Blood Corpuscle (RBC)

(B) bacterium

(C) spermatozoa

(D) \virus

Which of the following statements are

correct?

(i) Sound is produced by vibrations.

(i) Sound requires a medium for
propagation.

(iii) Light and sound both require a
medium for propagation.

(iv) Sound travels slower than light.

(A) (i) &(ii) only.

(B) (i), (ii) & (iii) only
(C) (i), (iii) & (iv) only
(D) (@), (i) & (iv) only
Which one of the following solutions will L
not conduct electricity?

(A) lemonjuice (B) vinegar

(C) tap water (D) vegetable oil

P.T.O.
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126.

127.

128.

APP-1I
An astronaut standing on the
surface of the moon throws a ball
upwards. The ball would -
(A) directly fall down from the point
it is released.
(B)
©

hang in space.

go up and then come back to the
surface of the moon.

(D) keep going up and never come
back.

A person met with an accident in which
two long bones of hand were dislocated.
Which among the following may be the
possible reason?

(A)
(B)
©
(D)

Which of the following are homogeneous

Tendon break
Break of skeletal muscle
Ligament break

Areolar tissue break

in nature?
)

(iii)
(A)
(B)
©
(D)

ice wood

(i)
soil (iv) air
(i) and (iii)
(ii) and (iv)
(i) and (iv)

(iii) and (iv)

129. The numerical ratio of displacement to

distance for a moving object is -
(A)
(B)
<
(D)

always less than 1
always equal to 1
always more than 1

equal or less than 1
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130.

131.

132,

APP-1I
An apple falls from a tree because of
gravitational attraction between the
earth and apple. If F,is the magnitude
of force exerted by the earth on the
apple and F,is the magnitude of force
exerted by apple on earth, then-
(A)
(B)
©)
(D)

Sound travels in air if -

F1 is very much greater than F2
F'2 is very much greater than 7
F, is only a little greater than £

F1 and F2 are equal

(A) particles of medium travel from

one place to another.

(B) there is no moisture in the
atmosphere.

(C) disturbance moves.

(D) both particles as well as

disturbance travel from one blace
to another.
Which of the following is(are) an
endothermic process(es)?
0)
(i)
(iii)
(iv)
(A)
(B)
©
(D)

Dilution of sulphuric acid
Sublimation of dry ice
Condensation of water \)apours
Evaporation of water

(i) and (iii)

(ii) only

(iii) only

(i) and (iv)

PITIO.
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APP-1I

133. If a few drops of a concentrated acid

accidentally spills over the hand of a

student, what should be done?

(A) Wash the hand with saline

| solution

(B) Wash the hand immediately with
plenty of water and apply a paste
of sodium hydrogencarbonate '

(C) After washing with plenty of
water apply solution of sodium
hydroxide on the hand

(D) Neutralise the acid with a strong
a[kali

134.Which one of the following can be used

as an acid-base indicator by a visually

impared student?

(A) Litmus

(B) Turmeric

(C) Vanilla essence

(D) Petunia leaves

135. Alloys are homogeneous mixtures of a

metal with a metal or non-metal. Which

among the following alloys contain

non-metal as one of its constituents?

(A) Brass |

(B) Bronze

(C) Amalgam

(D) Steel



136.

137.

138.

139.

O ORI TP 3R § -

(A) BRORY B

(B) B BI

(C) @I &

) = @ |
TS HeIUT Hfsha & AR 3T 8 arett
i el & U Bl 7

(A) =

(B) TARITGA

(C) oI SE3fIaHES

(D) TSI

a8 aff g s O @err Je sifte
e ¥ e I E

(A)
(B)

ve Wiehs o & Aftcal §

TS SE @ & Welet H

(C) Us Bieh & & sl §

(D) @1 Bt & & A=A H

37 o9 & Broa g # gfg & I € 5.

¥ o1 IR -

(A) Rifte & & e o uden & S
g

(B) Rigped & qur o9 Hier & 3§

() R A & T o9 Aier & S
g

(D) Riged & qor o Uae & Sl 8

SET-A

[45]

136.

137

138.

. (D)

APP-1I
Buckminsterfullerene is an allotropic form
of=
(A)
(B)
©
(D)
Oxygen liberated during photosynthesis

phosphorus
sulphur
carbon

tin

comes from -
(A)
(B)
©
(D)

Select the group which shares

water
chlorophyll
carbon dioxide
glucose
maximum number of common
characters:

(A)
(B)
©

two individuals of a species
two species of a genus
two genera of a family

two genera of two families

139. The focal length of the eye lens

increases when eye muscles -

(A) are relaxed and lens becomes

thinner
(B) contract and lens becomes thicker
(C) are relaxed and lens becomes
thicker
(D) contract and lens becomes
 thinner

P.T.O.
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140.
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144,

‘The

APP-1I
Enzymes are basically -
(A)
(B)
©)
(D)

Which of the following disease is caused

Fats
Sugars
Proteins

Vitamins

by protozoa?
(A).
(B)
©
(D)

Cholera

Diphtheria

Pneumonia

Malaria

study related to the plants
being used as vegetable is called -
(A)
(B)
©
()

Changing the amount of a substance,

Olericulture
Aviculture
Apiculture

Pomology

does not change its-
(A)
(8
©
(D)

Which of the following vitamins does

Density
Mass
Volume

Weight

not get stored in the body?
(A)
(B)
©
(D)

WmmmA
Vitamin C
Vitamin D

Vitamin E
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145.

146.

147.

APP-11
Which .one of the following is not the
objective of teaching of science at
upper primary stage?
(A) Developing questioning and
enquiring skills
(B)
©
(D)

National curriculum frame work- 2005

Aquiring technological skills
Aquiring Process skills

Aquiring scientific literacy

recommends that science education at

upper primary stage should focus on -

(A) Helping students to connect
classroom learning to the life out

side the school

(B) Helping students to aquire

international standards in learning

of science

(C) Minimising social disparities in the

students

(D) Promoting human values and

knowledge base for Peaceful

society

In science teaching constructivist

approach refers to -

(A) Providing more and more reading

material to student

(B) Providing additional academic help

to weak students

(C) Applying different mathematical

formulae in solving problem

(D)

Providing experiential learning to

students.

P.T.O.
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148.

149.

APP-11

The technique of role-play is considered
to be an effective strategy in teaching
of science because -

(A)

it is likely to promote social skills
of students

(B) it ensures breaking of monotony
in the process of learning
(C) itensures better understanding of

one's role in real life

(D) it ensures active participation of
students in the process of
learning

Hands-on activities and projects form
an integral part of learning of science.
These leaming experiences primarily aim
at -
(A) maintaining discipline in the
laboratory

(B) providing opportunity to students
for extended learning

(C) assessing the students on
practical skills

(D) keeping the students engaged all

the time

150. The topic 'Separation of Substances'

in Class VI can be taught most
effectively by -

(A) in depth explanation of related
concepts

(B) using hands on activities to be
performed by students

©

(D)

using good home-assignments
organising more group discussions on

different sub-topics
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95.

In which among the following places of
Harappan Culture, terracotta model of
plough has been found?

(A) Mohenjodaro

(B) Harappa

(C) Kalibangan

(D) Banawali

In which amo'ng the following
period the capital of Magadha was
shifted from Rajagraha to Pataliputra?
(A) Third Century BCE

(B) Fourth Century BCE

(C) Fifth Century BCE

(D) Sixth Century BCE

Who among the following rulers adopted
the title 'devaputra'? :

(A) Sungas (B) Sakas
(C) Kushanas (D) Guptas

In° which among the following

languages, 'Prayaga Prashasti' is

composed?
(A) Pali (B) Prakrit
(C) Sanskrit (D) Awadhi

Arrange the places of four Buddhist

Councils chronologically.

(1) Vaishali (2) Rajagriha
(3) Kundalvana (4) Pataliputra
(A) 1,2,3,4 (B)Yar3, 21
(C) 2,1,3,4 (D) 2,1,4,3
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100.

APP-11
Who among the following didn't
contribute in the construction or
renovation of 'Sudarshana Lake' in
ancient times?
(A) Mauryas
(C) Sakas

(B) Sungas

(D) Guptas

To which among the following seas, the

word ‘Erythréen' indicated in the book,

'Periplus of the Erythraen Sea'?

(A) Baltic Sea (B) Dead Sea

(C) Red Sea (D) Caspian Sea

Who among the following contributed in

the preservation of the ancient site

'Sanchi'?

(A) Shahjahan Begum and Sultan
Jahan Begum |

(B) Noorjahan and Mumtaj Mahal

(C) Abhilya Bai Holkar

(D) Durgawati

'Numismatics' deals with the study of-

(A) Edicts

(C) Coins

(B) Potteries
(D) Architecture
In Lingayat sect 'Jangamas' are—

(A) Temples

(B) Pious trees

© | Wandering Monks

(D) Women Saints

101. To which among the following Kingdoms,

"Mahanavami dibba" is associated with?
(A) Bijapur (B)
(C) Bidar

Bahamani

(D) Vijayanagar

P.T.O.
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102.
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APP-TI
Name the foreign traveller who was
made Qazi of Delhi :
(A)
(B)
©
(D)

Who among the following were 'tainat-

Al-Biruni
Ibn-Battuta
Barani

Bernier

i-rakab' during Mughal times?
(A)
(8)
©
(D)

Before the Santhals who were the

Nobles stationed at court
Nobles stationed at provinces
Nobles stationed at Jagirs

Nobles stationed at the villages

residents of the Rajmahal Hills?
(A) Bhils (B) Kols
(C) Paharias (D) Nagas

Who among the following was the rebel
leader at the pargana Barout in Uttar
Pradesh during 1857 revolt?

(A)
(B)
©
(D)

Which one among the following was the

Shal Mal
Badaruddin
Surajmal

Baba Ram Narayan

first hill station founded and settled by

the Britishers ?

(A) Nainital (B) Mussoorie
(C) Shimla (D) Darjeeling
P.T.O.
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APP-1I
In which among the following years
Supreme Court at Calcutta was set up
by the East India Company?
(A) 1772 (B) 1773
(C) 1774 (D) 1775
The planet known as the "Earth's Twin"
IS =
(A) Venus
(C) Mars

Direct rays of the sun fall on the Tropic

(B)
(D) Saturn

Mercury

of Capricorn on -

(A) 21June (B) 23 September
(C) 22December (D) 21 March
Maps showing natural feature of the
earth such as mountains, plains, riveré
are known as -

(A)
(B)
©
(D)

Generally green colour is used in the

Physical Maps
Historical Maps
Political Maps
Thematic Maps

maps -
(A)
(B)
©
(D)

For showing water bodies
For showing mountain
For showing plains

For showing plateau

112. The continent through which The Tropic

of Cancer, the Equator and the Tropic of
Capricorn is passing, is -

(A)
(B)
©
(D)

South America
Africa
South America and Africa

South America, Africa and Asia
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113.
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APP-1II
Starting from Earth's surface, the right
sequence is -

¢9)
(II) Troposphere

Stratosphere

(III) Thermosphere

(IV) Mesosphere

(A) LIIIII&IV

(B) II,I,IV&III

(C) LI IV&II

(D) II, IV, Il &I

The Aravali range in India is the
example of- '

(A)
(B)
©
(D)

Two major rivers of India which fall into

Volcanic Mountain System
Block Mountain System
Fold Mountain System
None of these

the Arabian Sea are -
(A)
(B)
©
(D)

Identify from the following states of

Narmada and Tapi
Narmada and Godavari
Godavari and Tapi

Narmada and Krishana

India through which the Tropic of
Cancer passes and arrange them from
East to West.

(1)
(3)
(5)
(6)
(7)
(A)
(B)
©
(D)

Gujrat

Uttar Pradesh

Madhya Pradesh

Maharashtra
Chhattisgarh
1,5,7,4&6

2,4, 7, 5&1
2,7,4,6,5&1
2,4,7,6&1

(2) WestBengal
(4) Jharkhand

P.T.O.
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117. St ora sarew e 5 &, € - 117. Rocks which contain fossils are-
(A) =g 3d (A) Igneous Rocks
(B) 3@urEr 3 (B) Sedimentary Rocks
(C) PRaRa Id (C) Metamorphic Rocks
(D) T I BB T (D) None of these
118. ) Ry o el T 9 IR @7 T R 118. Match the List I with List. II and
select the correct answer using the
¢ E[ﬁ B @ o aﬂﬂa e a1 codes given below-
T - 1 -1 ListI ListII
RIS & Grass land Location
a: - Sl 1. wez e a. Savanna 1. Central Asia
b. Rl 2. cfmr b b. Prairie 2. South Africa
c. wit 3. IO R c. Steppe 3. North America
d. 4. gl smhEt d. Veld 4. East Africa
P a b & d Code: a b © d
(B)- = AU 98 sath 2 () R 3 i 2
(B) 2 1 3 4 (B) 2 1 3 4
© g2 3 1 (C) 4 2 3 1
(D) e 1 2 (D) 3 4 1 2
119. P ¥ A B9 a1 3ngRvY (JR) 3799 4§ 119. Which of the following Sanctuaries is
Rerg &2 situated in Assam?
(A) TFET ARRIY (A) Kanha Sanctuary
(B) chrm 3Ry (B) Dachigam Sanctuary
(C) HEE IARRTI : (C) Manas Sanctuary
(D) TR=HT 3RRVY (D) Sariska Sanctuary
120. B 3o g1 Hari € - 120. 'Red Indian' belongs to -
(A) I mR@T & - (A) North America
() cfoT IMBIDT B (B) South Africa
(C) R oRmr & | (C) South Asia
(D) Sgferar & (D) Australia

SET-A [54]



o

T o Rea € -
(A) ITEUS §
(B) wEREdH

(C) 3rAUTTeT wegr H
(D) fofcew #

122. T ¥ § o T SeeRT 98 &2

(A) T FW
(B) TIRMEr awI
(C) vEER ORI
(D) s 9 Pig &I

123.19%a &1 ygen it foRgd 39w B) aten &

124.

125.

126

g
(A) g T 3MRer

(B) =18

(©) w»w

(D) =

&FBA & MR R F=feiRea § J swrmavs
50 BT B T 31 ALIT 3aH &2

(A) BT IS TS
(B) TR I T
(C) arcdl I ub
(D) e I uiS
HRd & Hfae @t 3iiga fear war o

(A) SFHGERI 26, 1950 B

(B) XY 26, 1949 @I
(C) TR 26, 1948 @I
(D) T%X 26, 1949 &I

HHAHS TRDR DI
ETETHD TBR DI
THIHAP TWBR DI

TIPS TROR DI

(A)
(8)
©)

(3)

SET-A
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121

1224

123,

APP-II
'‘Gangri glacier' is situated'in -
(A) Uttarakhand
(B) ' Ladakh
(C) Arunanchal Pradesh
(D) Sikkim
In the following which is not a warm
Ocean current?
(A) Gulf Stream
(B) Kuroshio Current
(®)
(D)
The

Labrador Current
None of these
first country in the world to

~ develop hydroelectricity is -

124.

125,

126.

USA
Norway

(A)
(B)
(C) France

(D) China

According to area, which one of the
following is largest National Park in
Uttarakhand State?

(A)
(B)
©
(D)

The Constitution of India was adopted

Rajaji National Park
Gangotri National Park
Nandadevi National Park
Govind National Park

on-
(A)
(B)

January 26, 1950

January 26, 1949

(C) December 26, 1948

(D) November 26, 1949
Judicial Review is a feature of -
(A)
(B)
©)
(D)

Parliamentary Government
Presidential Government
Unitary Government

Federal Government
P.T.O.



127.

128.

129,

130.

(A

mﬁaﬁ%ﬂﬁamqmiﬁmm
fooar T/ o :

(A) Tl gEuR sfefam, 1909 |

(B) dicwg-T=awiS GUR Em 1919
q

(C) ¥Rd WoR FFH

(D) ¥Rd & Wiau™ gRI

uRa $ IfeH & wae 3 en-FRuer
3R “THER I e ™ A :

(A) Ieferad eEM BRT

(B) Sodifcrad TRIEH GRI

(C) wuIferd Heied gRI

(D) TaIferd TR R

e = TeA & g 9W [T @t
A% TORIE 309 idl & df 39D FHEH

- oo s @ -

(A) XTHRT BRI
(B) TIGHHl A& RI

© aﬁmﬁﬁméwm%a

FRD
(D) 2T HeA! BN AYeh AT GRI

Tl ISguE v § e JIsdl | JIeauTd
$ ®7 § BRIRA & al-

3 399 S T & R |
5T gRT Ye foar S &

F5 IR gR1 3 9o Y fovar
Far &1

R 395 997 ¥ 3¢ T dad faan
. ST &1

(D) wefEd I GRT WARUIS ¥4
¥ 3a9 vem foar shar &

(8)

©

SET-A .
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127. The Universal Adult Franchise was

introduced in India under :

(A) Minto-Morley Reform Act, 1909
(B) Montague-Chelmsford Reform Act,
1919

Government of India Act

The Constitution of India

©
(D)

128. The words 'secular’ and 'socialist’ wér"e

129.

130.

added to the Preamble to the Indian
Constitutions by the :

(A)
(B)
©
(D)

39" amendment
415 amendment
42" amendment

44" amendment

" In case of differences between the two

houses on an ordinary bill the same is

resolved by -

(A) The President

(B) The Speaker

(C) Convening a joint sitting of the
" two Houses

(D) A joint committée of the two

Houses

If a Governor acts as the Governor of

more than one State then -

(A) His salary is paid by the state
where his headquarter is
located.

(B) His salary is paid by the

| Central Government.

(C) He gets one and a half time his
normal salary.

(D) His salary is shared by the

concerned states in equal

proportion.



131.

132.

133.

134.

HRT & Ul R TRIRRINT, YR Gfyem
& = J 59 srpede gRT e ST
&

(A) 3% 59
(B) 3= 60

(C) 3= 61
(D) 3IWRRD TN

I B FHM TRE0T BT 3R & -
(A) T FH 9 GOR $ 29 Tel

(B) |HI BRI BT ARG T e
g1 Tifge|

o uRfoal § a9l afReal &
Y B B IIER Tb |1 &=
Tifge| i

(D) IRH W

R[50 AFAIIGR 3N & 9l @ 2T
ST &dT &, Pad -
HRA & Ul GRI

I & IS99 &RT

59 & GEIHAT GRT

150 3 T & G =TT
GRT

©

(A)
(B)
©
(D)

T T4 & o) IoREvs 5T o feay

ot fraifaa g &2
(A) 01
(B) 03
(©) 05

(D) o7 =

SET-A
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131

432.

(8)

APP-II
Which one of the following articles of
the Indian Constitution deals with the
impeachment process against the
President of India?
(A) Article 59
Article 60
(C) Article61
(D)

Equal protection of Law means that-

(A)

All the above Articles

all laws must be general in
character
(B) all laws must have universal
application
©

all persons should be equally

treated under similar

circumstances

all the above

(D)

133. The members of a State Human Rights

134.

Commission can be removed only
by the -

(A)

(8)
©
(D)

The President of India

The Governor of the State

The Chief Minister of the State
The Chief Justice of the State
High Court

How many members are elected for
Rajya Sabha from Uttarakhand State?
(A) 01

(B) 03

(C) 05

(D) 07

P.T.O.



1857

e & ¥ B TgeR & gTE ¥ Fofoe
wUse @1 T BT & o HETREnT SRard
¥ 39 gfieT T8 el 87

(A) droa & Hafud T

(B) sgadl & Faifud Tad

©) u R Wi $ T g W

(D) <4 foe wuE

136.9%. WRda 9§ fod 7 59 B Yo

137%:

138.

a1 3T & o Fe § 2 dfoem o e
e & wehed sfard €2

(A) S

(B fia

(C) T

(D) YTH

wRdr SR S Rea e 3 8 T
2 15 14 9f ¥ oF Y I oA T B
BREE, @ a1 30 e Sited W
o R Frges T8 fvar 5T wwar?

(A) 3rJcee 24

(B) 3FER 45

(C) 3rgea 330

(D) 3rJ<ee 368 |
IR RIerER & 3god e H d e

o 3 B T IR &2
(A) 39 TR
(B) ¥ TG

(C) 3 Id H [T B Moauie

(D) SEawr 3raE

SET-A
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135.

136.

137.

138.

APP-11
Which one of the following is
part of electoral college for the
President but does not forum for his
impeachment?
(A) Elected members of Lok Sabha
(B) Elected members of Rajya Sabha
(C) Elected members of State

Legislative Assemblies

(D)

If a new state of the Indian Union is to

State Legislative Assemblies

be created, which one of the following
schedules of the Constitution must be
amended?

(A) First

(B) Second

(C) Third

(D) Fifth

Which Article of the Constitution of
India says, "No child below the age of
14 years shall the employed to work in
any factory or mine or engaged in any
other hazardous employment"?

(A) Article 24

(B) Article 45

(C) Article 330

(D) Article 368

As per Indian Protocol, who among the
following ranks highest in the order of
precedence?

(A)
(B)
©

Deputy Prime Minister

Former President

Governor of a State within his
State

(D) Spéaker of Lok Sabha



139,

140.

141.

142.

afe darRE €T 8 S 8, A 3ue g
B 37ard & -

(A)
(B)
(®)
(D) ©P a¥ & 3R

e % 3R T 3 e e R
foarl w warea = gy el 1 Fiok,
301 69 IBR 3T SARGR &7

(A) TR eEifteR

(8) sriichar i

(C©) "Rhvs &FfteR

(D) Hdeane aAfteR

WRdid =ifae e § sHfsaar @
fod s & v wRa & T <
D I?

(A) . fecmagen

(B) ©. UH. 3/EHAT

(C) T w4 IF=

(D) . . WEar

ST fosm Rreor &1 W= g &

Us A€ & 3R
d9 78 & 3R
©: HIE & 3FeX

(A) WPk 3ubm
(B) UAGROT Tl
(C) <rTlsie ufdagar
(D) IRrH T

SET-A
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139.

140.

141.

APP-11
if a Panchayat is dissolved, elections

are to be held within -
(A)
(B)
©
(©)

The powers of the Supreme Court of

One month
Three months
Six months

One year

India to decide disputes between the
Centre and the State falls under its -

(A)
(B)
©
(D)

Who was the Chief Justice of India when

Advisory juriédiction
Appellate jurisdiction
Original jurisdiction

Constitutional jurisdiction

Public Interest Litigation (PIL) was
introduced to the Indian Judicial System?
(A)
(B)
©
(D)

M. Hidayatullah
A. M. Ahmadi
A. S. Anand

P. N. Bhagwati

142. The ‘main general objective of

social science teaching is -
(A)
(B)
©
(D)

Cultural application
Environmental awareness
Social Commitment

All of the above

P.T.O.



APP-1I

143. Rreor Tednh gie & o9 4 dee FHoT 143. The main advantage of field trip in
@1 'ﬂé‘ﬂﬂﬁ AT E - supporting devices of teaching is -
(A) ST 3@ (A) Direct Observation
(B) drdid® FHHA (B) True Understanding
(©) e wiieRo & wAfkh (C) More power retention
(D) 3IRRFG TH | (D) All of these
144. B § oF 9o 959 & AN & 144. Which of the following is a/an
ﬁﬂT’s”/%f? characteristics of social science
teacher?
(A) A8 T & foer @ el (A) Art of development of Human
: Relations
(B) faftm Do @1 S (B) Know different skills
(C) ERSD TN & 39ANT &1 DI (C) Skill in the use of Teaching Aids
(D) 3IRRB I (D) All the above
145. TETSE faa Reor & g ofYr 8- 145. The ancient method of Social
Science teaching is-
(A) wwl & a7 & Bifer (A) Problem solving method
(B) e Rfy (B) Observation method
(C) == fafer (C) Lecture method
(D) wEER® fafr (D) Practical method
146. 3R 50 9 3 T@T B Ue 3R TS 146. If a child has learnt to read and
understand the globe, then he has
I foran &, a1 39 fastaa fosam &
developed -
(A) ’l’ﬂ'ﬁ grefea PEe (A) Geography related skills
(B) @l Tt 3Eaed DY (B) Geography related observational
skills
(C) uEeRe TwfEd D (C) Practical related skills
(D) URadH DI (D) Transformation skills

SET-A [60]



147. U AW 31800 Rieis oe 849 &

A B HAGH hdT B UgHT TEdT

3 o e 3uges fafer @1 sudm &=
TMEC J7 &
(A) STTHHIED-3UIIS fafr
(B) Uagws fafér
(C) uRarsmEr fafer
(D) s fafer

148. v AMIsIe 31ega Ries Tt 3k
HEEIRI & RIF @ GaEmr aear &1 39
59 yBR & wHRE afke?
(A) o IsHIfas
(B) fawg difcs
(C) ¥Ra™ sifas
(D) YR SIS

149. BET & ST AMITS® 59 3 BT YaT By
& foe, v Rers o1 aifke 5 o=
(A) S & YBR ol Rt TRt & s

&R '

(B) CHRC-§ DI AN b fGams|
(C) Bl B FATET I BN AT & 2|
(D) Ticitafer amenRa Rramor |

150. U 37U & 3R TP o BHal & §R
4 36 formar & afe = wwem § wam
&l I7 3239 fobur Wiepeaar & 3rertar amem?
(A) TARTATEHS
(B) WETHD
(C) HIFTEHD
(D) ieweT

SET-A
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147.

148.

149.

150.

APP-II
A Social Studies teacher wants to teach
the voting procedure to the students
of Class 8th. The most appropriate
method he should use is -
(A)
(B)
©
(D)

A Social Studies teacher wants to teach

Inductive-deductive method
Textbook method
Project method

Dalton method

the location of continents and oceans.
Which type of map, He should use?

(A)
(B)
©
(D)

To create interest in Social Science

World political
World physical
Indian physical

Indian political

among students, a teacher should-
(A) Use same type of teaching
methods

(B)
(&)

Teach by using text-book

Not allow the students to ask
questions

(D)

A teacher writes,hone of the

Do activity based teaching

instructional objectives as students
shall be able to differentiate
between Kharif and Rabbi crops. The
domain in which this objective will fall
isi=
(A)
(B)
©
(D)

Psychomotor
Affective
Cognitive
Skill
P.T.O.
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6.

10.

11

12.

13.

14,

o W 1 30 9 % Yo ST T vl
Rreor fomme & wafaa &1

e T 31 X 60 I S T NI WR-fE
3RmET 3T ¥ Wi § 3 Y dad i
ST B 2 & U Yo & 9 H & o3 &l
3l 3MdET WA & IR gaa WIS T
& U & BRI : '

ug &A1 61 I 90 9 P YT N fgda-
&< 3rRmET SRS SRMEl S¥Xpd SRME 3 N
Trsfea €1 398 ¥ Pac Ue WNT & I &
AT f5iia & %9 H &1 B3 ¢l 30l 3ae

T & IER gahE Bl 9 & ge g

| gF 7 5 m 9w $ w0 A g
ameT, fEda 9o & w9 § T8 o SR

Yo | 91 9 150 9 & U WVE vd
fem o1 we FeaTE ¥ IR &

3Rt B 59 W U & M w6 fmE an
s e ¥ Y 0 fovg & weE @
& o 7, o fawa &1 aow anaeif 3
3mdeT oA o fosar 2l

.waﬁm—gfiamasﬁﬁzémwﬁm

ST Hopar 2l

79 U7 2 ok & 9Hg T 9 oY O o

TS T 37T 8 a3 Y W A

3NOTHOIRO TR T&d @ A Tal 3R T &
far voR & foga &

WIS THE 89 R 3N0THOR0 FTR Uadh
DI a7 FRIeTe o 3193 I 2| IR B

TR TS D Pl Afd T4 TH-gRADT 30

I o W B 3Eld &
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6.

10.

1

12.

7313

14.

APP-1I
Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First

language - Hindi OR English. Candidate has

to select the questions of only one language as
the First language. Answer the questions of the
language which the candidate has selected as
First language in his/her application form.

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR:
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First
language cannot be taken as Second language.

Question Nos. 91 to 150 are related to
Mathematics and Science OR Social
Studies. :

The candidate has to answer the subject
Mathematics and Science OR .Socig!

Studies as selected by the ‘Cémdidatg in the

application form.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If
you cannot answer a question, proceed to the
next one.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed

~ to take away the carbon cof)y of OMR answer

sheet and Question Bogljg'l'ét.
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ST Sre - R APP-II
31, FwRo W @ gfe & dve wirt 38, ‘@ W fibeT wrel & wwer apge &
qof-aq7f sargel (A) & (B) Fd-r
A) & @l (B) ‘@i (C) ferdreor (D) frae
©) ‘T af (D) ‘w atf 39, Frefeaa # & s o # agfife
32. &< Wity ® der-afse 5 oar s ¥
& (A) itemen (B)  HuTor
) FEeT (8) foemafa (©) e (D) ferendf
gl (D) mea 40. Trieed H BIF-91 I qENd el 27
33. ARRY wEIRU w9 Sl & w4y A) =8 ®)
" B & AP | o Man Dl
el 41, ‘81 A N 33 T HET WU T’ BT 37 -
&) ww_&m (A) Sfud-3ERE @1 SR
({:} ﬁ;ﬁwﬂ;? (8) il s @ el
34. e D & ST el due TRY| T el
B EANE g9 TR U Afereg || (D)_WWﬁﬁ%ﬂ'
T 0& ¥ P91 3TdR & i ﬁwmﬁaﬂq"mw“ﬁ&x'
(A) 3T ®) frsf (A), S SRR STl i R el
© e (D) =R g e b N\
35. 0 Py § ol v o e R . (©)), SRR et dre ;
(A) 22 B) 33 (O g Burd FRre - ot
(€ 15 (D) 24 43, 9% e 7w SR oY o
36. B = ‘T @ T & ¥ S B
(A) 9t (B) E&IET ﬁqﬁ'ﬁaﬂqﬁﬁr HIF-ary 27
(C) & (D) TEED (A) T=IT Ay
37. e T By iy & (B) T B Ay
(A) o1 Y (B) awor Wiy (C) TR 2w
(©) omfe T (0) = Ry (D) swelieia e
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28.

29,

30.

!
afe amy el a=0 o fawg 7 fovga smery
UHT & Oed & (YRAR @1 gfem,
Ry @ ey 3nfe) o 3 fosw sreaas

fafer a1 yanT HRA?

(A) T Tl

(B) 3@dia

(C) WIEIBR

(D) wd&or
nﬁraﬁqasrrmsoomﬂﬁl 3T SR
3T & 3R 150 U P Fehl, 275 JUA B
mmsowﬁawﬁﬂaﬂ%rmm
¥ 95 & fea €, 39 B 89 aifeel amo
3 foam t_y e

TE JEET | -
(A) HH FEnRa 9 &I

(B) N 3menRa ge @&

(C) N 3enRa we &l

(D TS 52T B |

fideners el & FHfor & @@r @ &2

1. oo v B goE ¥ 5 &
®fod ol

2. U U1E DIEel U4 ArgdT & Jedico

@ &l

3. ¥ foeaw 3R g gureE el

(A)
(B)
(&)
(D)

SET-A

& IR R & & E

1,'%3
13k 2
2 3R 3
13k 3
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28. If you want to gather

29.

30.

APP-11
detailed

information (Family history, School

background etc.) about the child then
which method of study will you use?

(A)
(B)
©
(D) Survey

Suppose you have ¥ 500. You go to
purchase

Case study
Observation

Interview

the market and
vegetables for ¥ 150, fruits for
T 275 and milk for ¥ 50. You meet
Mohan in the market, he wants some
money. How much money will you give
to him?

This is an example of -

(A) Understanding Based Question

(B)
(©)
(D)

What are the advantages

constructing essay type questions?

1. It is difficult to construct as
compared to objective type
questions.

2. Itevaluates the writing skills and
ability.
3. It emphasizes on application of

Knowledge Based Question
Application Based Question

Objective Question

of

thinking and problem solving
skills.

1: 2, 3

1&2

2&3

(A)
(B)
(C)
(D) 1&3
P.T.O.



